



U.G. DEGREE EXAMINATION – 
JUNE 2008.

(AY — 2004–05 onwards)

Third Year

B.C.A.

MANAGEMENT PRINCIPLES AND TECHNIQUES

Time : 3 hours
Maximum  marks : 75

Answer for 5 marks questions should 
not exceed 2 pages.

Answer for 10 marks questions should 
not exceed 5 pages.

PART A — (5 ( 5 = 25 marks)

Answer any FIVE questions.

1. Explain the management functions of OR.

2. Discuss about Graphical solution method.

3. Define optimality and artificial variable.

4. Explain about finding optimal solution in Transportation problem.

5. Discuss about project control.

6. Define PERT and CPM.

7. Explain an Individual Replacement policy.

PART B — (5 ( 10 = 50 marks)

Answer any FIVE questions.

8. Solve the LPP  by Graphical method.

Maximize 
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9. Solve the LPP by Dual Simplex Method :

Maximize 
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10. Find the BFS of the following Transportation problem by north-west corner rule. Also find the optimal transportation problem.

	
	1
	2
	3
	4
	5
	Availability

	
	4
	3
	1
	2
	6
	80

	
	5
	2
	3
	4
	5
	60

	
	3
	5
	6
	3
	2
	40

	
	2
	4
	4
	5
	3
	20

	Requirement
	60
	60
	30
	40
	10
	200


11. Find the optimal assignment for the assignment problem with the following cost matrix :

	
	I
	II
	III
	IV

	A
	5
	3
	1
	8

	B
	7
	9
	2
	6

	C
	6
	4
	5
	7

	D
	5
	7
	7
	6


12. Given the following data, prepare a network and determine the earliest time, latest time and slack for each event. Also identify the critical path.

	Activity :
	1–2
	1–3
	1–4
	2–5
	2–8
	3–6
	4–6

	Duration :
	6
	3
	5
	4
	5
	7
	4

	Activity :
	4–7
	5–8
	6–8
	6–9
	7–9
	8–10
	9–10

	Duration :
	6
	3
	4
	3
	2
	6
	5


13. Purchase price of a machine is Rs. 3,000 and its running cost is given in the table below. If the discount rate is 0.90, find at what age the machine should be replaced.

	Year :
	1
	2
	3
	4
	5
	6
	7

	Running cost :
	500
	600
	800
	1000
	1300
	1600
	2000


14. Explain about simplex algorithm in detail.
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